PROGRAM	1754-S TERM DATE OF AWARD TO 06/30/07							
	T SHEET FORMS AND MULTIPLE PART SETS		_					
ITEM NO.	DESCRIPTION	*	BASIS OF *	k	BARTON PRINTING CO.	*	KINGLY BUSINESS FORMS	*
		*	AWARD *	k	Jacksonville, FL	*	Tulsa, OK	*
		*	*	k	UNIT RATE	COST *	UNIT RATE	COST *
	CATEGORY 1 - CUT FORMS	*	*	k		\$0.00 *		\$0.00 *
I.	PRINTING AND TRIMMING TO SIZE:	*	*	k		\$0.00 *		\$0.00 *
(a)	Printed one side only in any single ink color	*	*	k		\$0.00 *		\$0.00 *
(1)	Makeready and/or Setup.	*	4 *		\$15.00	\$60.00 *	\$80.00	\$320.00 *
(2)	Running per 1,000 copies.	*	16 *	k	\$12.50	\$200.00 *	\$18.00	\$288.00 *
(b)	Printed two sides in any single ink color	*	*	k		\$0.00 *		\$0.00 *
(1)	Makeready and/or Setup.	*	2 *		\$25.00	\$50.00 *	\$140.00	\$280.00 *
(2)	Running per 1,000 copies	*	6 *	k	\$22.50	\$135.00 *	\$30.00	\$180.00 *
(c)	Each additional color of inkper color, per side	*	*	k		\$0.00 *		\$0.00 *
(1)	Makeready and/or Setup	*	3 *		\$15.00	\$45.00 *	\$28.00	\$84.00 *
(2)	Running per 1,000 copies.	*	10 *	k	\$12.50	\$125.00 *	\$28.00	\$280.00 *
II.	PAPER (per 1,000 leaves):	*	*			\$0.00 *		\$0.00 *
(a)	White 25% Bond (20 lb.)	*	*			\$0.00 *		\$0.00 *
(1)	Up to 8-1/2 x 14"	*	4 *		\$35.00	\$140.00 *	\$28.00	\$112.00 *
(2)	Over 8-1/2 x 14" up to 11 x 17"	*	XXX *			\$0.00 *		\$0.00 *
(b)	White Bond (20 lb.)	*	*			\$0.00 *		\$0.00 *
(1)	Up to 8·1/2 x 14"	*	7 *	_	\$8.00	\$56.00 *	\$18.00	\$126.00 *
(2)	Over 8-1/2 x 14" up to 11 x 17"	*	4 *		\$16.00	\$64.00 *	\$26.40	\$105.60 *
(c)	Colored Writing (20 lb.)	*	* = ±		<b>#10.00</b>	\$0.00 *	#20.40	\$0.00 *
(1)	Up to 8·1/2 x 14"	*	7 *		\$10.00	\$70.00 *	\$20.40	\$142.80 *
(2)	Over 8-1/2 x 14" up to 11 x 17"	*	4 *		\$20.00	\$80.00 *	\$30.00	\$120.00 *
(d)	White or Colored Index (110 lb.)	*			### 00	\$0.00 *	#24.00	\$0.00 *
(1)	Up to 8-1/2 x 14"	*	4 *		\$55.00	\$220.00 *	\$34.00	\$136.00 *
(2)	Over 8-1/2 x 14" up to 11 x 17"	*	4 *		\$105.00	\$420.00 *	\$38.00	\$152.00 *
III.	FILMS:	*	2 *		Ф <u>г</u> 00	\$0.00 *	#10.00	\$0.00 *
(a) (b)	Any size up to 8-1/2 x 14"	*	2 "	· k	\$5.00	\$10.00 <b>*</b> \$9.00 <b>*</b>	\$18.00	\$36.00 *
1,	Any size over 8-1/2 x 14" up to 11 x 17"per line film  ADDITIONAL OPERATIONS:	*	1 "		\$9.00		\$29.00	\$29.00 *
IV. (a)	Foldingper 1,000 leaves	*	4 *	k	\$25.00	\$0.00 <b>*</b> \$100.00 <b>*</b>	\$20.00	\$0.00 <b>*</b> \$80.00 <b>*</b>
(a) (b)	Drilling (maximum 3 holes per run) per 1,000 leaves	*	2 *		\$7.50	\$15.00 *	\$20.00	\$8.00 *
(c)	Padding (includes backboard, assembling leaves into pads,	*	∠ *	k	Φ1.90	\$0.00 *	φ4.00	\$0.00 *
(0)	stacking, padding and slicing pads apart)per 100 pads	*	2 *	k	\$15.00	\$30.00 *	\$20.00	\$40.00 *
(d)	Numbering each leaf paus apart/ per 100 paus	*	2 *		\$2.50	\$5.00 *	\$5.00	\$10.00 *
(e)	Wrapping or shrink-film packaging per package	*	200 *		\$0.35	\$70.00 *	\$0.25	\$50.00 *
(6)	CATEGORY 2 - MULTI-PART SETS	*	200	k	ψ0.55	\$0.00 *	φ0.20	\$0.00 *
ī	PRINTING AND TRIMMING TO SIZE:	*	*	k		\$0.00 *		\$0.00 *
(a)	Print one side only in any single ink color:	*	*	k		\$0.00 *		\$0.00 *
(i)	Two-part setsper 1,000 sets	*	11 *	k	\$78.00	\$858.00 *	\$18.00	\$198.00 *
(ii)	Three-part sets. per 1,000 sets. per 1,000 sets.	*	31 *			\$3,162.00 *	\$30.00	\$930.00 *
(iii)	Four-part setsper 1,000 sets	*	9 *			\$1,224.00 *	\$36.00	\$324.00 *
(iv)	Five-part setsper 1,000 sets	*	3 *			\$528.00 *	\$54.00	\$162.00 *
(b)	Printing second side in the same ink color:	*	*	k	φ1.5.00	\$0.00 *	φσ τ.00	\$0.00 *
(i)	Two-part sets	*	2 *	k	\$92.00	\$184.00 *	\$16.00	\$32.00 *
(ii)	Three-part sets. per 1,000 sets.	*	4 *	_	\$127.00	\$508.00 *	\$20.00	\$80.00 *
(iii)	Four-part sets. per 1,000 sets.	*	3 *		\$176.00	\$528.00 *	\$24.00	\$72.00 *
(iv)	Five-part sets. per 1,000 sets.	*	1 *		\$226.00	\$226.00 *	\$28.00	\$28.00 *
II.	PAPER (per 1.000 leaves):	*	*	k	¥ <b>-1</b> 3.00	\$0.00 *	<b>\$23.00</b>	\$0.00 *
(a)	White or Colored Chemical Transfer Bond (CB, CF, CFB) (13-17 lb.)	*	160 *	k	\$58.00	\$9,280.00 *	\$22.00	\$3,520.00 *
(b)	White or Manila Chemical Transfer Tag (CB, CF, CFB) (7-1/2 pt.)	*	2 *		\$102.00	\$204.00 *	\$53.00	\$106.00 *
III.	FILMS:	*	*	k	Ţ10 <b>2.</b> 00	\$0.00 *	φσσισσ	\$0.00 *

(a)	Any size up to 8-1/2 x 14"per line film	*	6 *	\$5.00	\$30.00 *	\$15.00	\$90.00 *
(b)	Any size over 8-1/2 x 14" up to 11 x 17"per line film	*	2 *	\$9.00	\$18.00 *	\$26.00	\$52.00 *
IV.	ADDITIONAL OPERATIONS:	*	*		\$0.00 *		\$0.00 *
(a)	Foldingper 1,000 leaves	*	4 *	\$25.00	\$100.00 *	\$20.00	\$80.00 *
(b)	Drilling (maximum 3 holes per run)per 1,000 leaves	*	9 *	\$7.50	\$67.50 *	\$6.00	\$54.00 *
(c)	Padding (includes backboard, assembling leaves into pads,	*	*		\$0.00 *		\$0.00 *
	stacking, padding and slicing pads apart)per 100 pads	*	20 *	\$15.00	\$300.00 *	\$25.00	\$500.00 *
(d)	Crash numberingper 1,000 sets	*	4 *	\$15.00	\$60.00 *	\$12.00	\$48.00 *
(e)	Wrapping or shrink-film packagingper package	*	90 *	\$0.35	\$31.50 *	\$0.20	\$18.00 *
(f)	Marginal changeper change	*	30 *	\$8.00	\$240.00 *	\$10.00	\$300.00 *
(g)	Minor changeper change	*	3 *	\$15.00	\$45.00 *	\$20.00	\$60.00 *
(h)	Major changeper change	*	5 *	\$15.00	\$75.00 *	\$20.00	\$100.00 *
		*	*		\$0.00 *		\$0.00 *
		*	*		\$0.00 *		\$0.00 *
	CONTRACTOR TOTALS	*	*		\$19,573.00 *		\$9,333.40 *
	DISCOUNT	*	*	2.00%	\$391.46 *	1.00%	\$93.33 *
	DISCOUNTED TOTALS	*	*		\$19,181.54 *		\$9,240.07 *
							AWARDED

Г		Т			Т
MDE DUGDIEGG FODMG		*			*
MPE BUSINESS FORMS			DD DIVIOUS GOLVED A GMOD		*
Dekalb, IL	~~~~	*	PREVIOUS CONTRACTOR	~~~~	
UNIT RATE	COST	*	UNIT RATE	COST	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
\$85.00	\$340.00	*	\$100.00	\$400.00	*
\$5.70	\$91.20	*	\$7.00	\$112.00	*
	\$0.00	*		\$0.00	*
\$130.00	\$260.00	*	\$150.00	\$300.00	*
\$5.70	\$34.20	*	\$7.00	\$42.00	*
	\$0.00	*		\$0.00	*
\$45.00	\$135.00	*	\$60.00	\$180.00	*
\$1.00	\$10.00	*	\$7.00	\$70.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
\$36.32	\$145.28	*	\$45.00	\$180.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
\$13.66	\$95.62	*	\$18.41	\$128.87	*
\$15.42	\$61.68	*	\$35.00	\$140.00	*
	\$0.00	*		\$0.00	*
\$19.39	\$135.73	*	\$20.05	\$140.35	*
\$21.89	\$87.56	*	\$75.00	\$300.00	*
	\$0.00	*		\$0.00	*
\$48.76	\$195.04	*	\$60.48	\$241.92	*
\$55.05	\$220.20	*	\$110.00	\$440.00	*
	\$0.00	*		\$0.00	*
\$9.00	\$18.00	*	\$10.00	\$20.00	*
\$12.00	\$12.00	*	\$15.00	\$15.00	*
	\$0.00	*		\$0.00	*
\$25.00	\$100.00	*	\$15.00	\$60.00	*
\$5.00	\$10.00	*	\$6.00	\$12.00	*
	\$0.00	*		\$0.00	*
\$20.00	\$40.00	*	\$6.00	\$12.00	*
\$5.00	\$10.00	*	\$5.00	\$10.00	*
\$0.25	\$50.00	*	\$0.20	\$40.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
\$128.07	\$1,408.77	*	\$29.33	\$322.63	*
\$107.15	\$3,321.65	*	\$36.48	\$1,130.88	*
\$139.37	\$1,254.33	*	\$49.48	\$445.32	*
\$231.46	\$694.38	*	\$80.50	\$241.50	*
·	\$0.00	*		\$0.00	*
\$153.07	\$306.14	*	\$21.00	\$42.00	*
\$120.39	\$481.56	*	\$30.00	\$120.00	*
\$154.89	\$464.67	*	\$35.00	\$105.00	*
\$281.46	\$281.46	*	\$63.00	\$63.00	*
	\$0.00	*		\$0.00	*
\$25.71	\$4,113.60	*	\$27.32	\$4,371.20	*
\$82.38	\$164.76	*	\$63.27	\$126.54	*
, . =	\$0.00	*	,	\$0.00	*
		-			_

\$9.00	\$54.00	*	\$10.00	\$60.00	*
\$12.00	\$24.00	*	\$15.00	\$30.00	*
	\$0.00	*		\$0.00	*
\$25.00	\$100.00	*	\$25.00	\$100.00	*
\$5.00	\$45.00	*	\$7.50	\$67.50	*
	\$0.00	*		\$0.00	*
\$20.00	\$400.00	*	\$7.50	\$150.00	*
\$10.00	\$40.00	*	\$10.00	\$40.00	*
\$0.25	\$22.50	*	\$0.15	\$13.50	*
\$5.00	\$150.00	*	\$5.00	\$150.00	*
\$35.00	\$105.00	*	\$60.00	\$180.00	*
\$35.00	\$175.00	*	\$75.00	\$375.00	*
	\$0.00	*		\$0.00	*
	\$0.00	*		\$0.00	*
	\$15,658.33	*		\$10,978.21	*
5.00%	\$782.92	*	1.00%	\$109.78	*
	\$14,875.41	*		\$10,868.43	*
					T
	1	1		l	1